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Name

Course Time:

The exam has multiple choice and short answer. Use a SCANTRON sheet to record your multiple choice solutions.
MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Identify a pattern in the list of numbers. Then use this pattern to find the next number.
1)1,24,1,36,1,48, 1,
A)62 B)72 Q)60 D)1

Use the four-step method in problem solving to solve the problem.

2) City A has an elevation of 12,793 feet above sea level while city B has an elevation of 16,680 feet below sea level.
How much higher is City A than City B?

A) 29,573 ft. B) 3887 ft. C) 3987 ft. D) 29,473 ft.

Are the sets equivalent?
3)-h=i05,27.,29,.81,38)
B ={26,28,30,32,54)
A)No B) Yes

Calculate the number of subsets and the number of proper subsets for the set.
4) the set of words describing the colors on a stoplight
A)S8;7 B) 16; 15 C)15; 16 D)7:8

LetU={q,1,stuv,w,XY,z
A={q,suw,y}
B={q,s,y, z}
C={v,w, Xy, z}. List the elements in the set.

5) A'uB
A){s, u, w} B){q, 1,5t Vv, XYy, z} O)g,s t,u,v,w, Xy} D){r,s, t,u, v, w, X, z}




[image: image2.jpg]Convert the numeral to a numeral in base ten.
6) 1101 ¢wo

A)22 B)6 €18 D)12

Use the order of operations to find the value of the expression.
7) -8(-5) - 6(-5)
A)-170 B) 10 C)-10 D)70

Divide. Write the answer in lowest terms.

& 8
8) 'ﬁ - E
1 57 24 209
A B2 T D)2
Express the number in scientific notation.
9) 0.000006149
A)6.149 x 10-5 B)6.149 x 10-7 C)6.149 x 10-6 D) 6.149 x 106

Use a proportion to solve the problem about direct variation.

10) The amount of water used to take a shower is directly proportional to the amount of time that the shower is in
use. A shower lasting 25 minutes requires 15 gallons of water. Find the amount of water used in a shower
lasting 8 minutes.

A)200 gallons B) 4.8 gallons C) 4.2 gallons D) 5.4 gallons




[image: image3.jpg]Use a calculator with a [yX] key or a [A] key to solve the problem.
11) The exponential function f(x) = 40.69 (1.024 )X describes the population of a certain country, y, in millions, x
years after 1980. a. Substitute 0 for x and, without using a calculator, find the country's population in 1980. b.
Find the country's population in the year 2005 as predicted by this function.
A) a. 1 million; b. 75.385 million B)a. 0;b. 71.893 million
C)a. 1.024 million; b. 70.208 million D) a. 40.69 million; b. 73.618 million

Solve the system by the addition method.
12): xa=g=12
x-y=4
A) No solution B) (8, 4) C).(7Z,5) D) (-8,5)

Write the decimal as a percent.
13) 0.042
A)0.0042 % B)4.2% C)0.042 % D)42%

Calculate the slope of the line passing through the given points. If the slope is undefined, so state. Then indicate whether
the line rises, falls, is horizontal, or is vertical.

14) 4,9),(-5,-2) [m=(Yz2-Y1)/(X2-X1)]

115 11 9
- e ikl S s 57,
A) 9 falls B) g Tises Q) 17 tises D) -7, falls




[image: image4.jpg]The principle represents an amount of money borrowed at the given rate for the specified time. Find the simple interest
and the maturity value of the loan.

15) principal = $6000  (I=Prt)
rate=7%
time = 1 year
A) simple interest: $7 ; maturity value: $6007 B) simple interest: $4200 ; maturity value: $10,200
C) simple interest: $420 ; maturity value: $6420 D) simple interest: $70 ; maturity value: $1070

Solve the problem. Round answers to the nearest dollar.

16) The cost of a boat is $31,000. Arthur finances this by paying $5000 down and $715 per month for 48 months.
Determine a. the amount financed; b. the total installment price; c. the finance charge.

A) a. amount financed: $26,000; b. total installment price: $38,280; c. finance charge: $7280
B) a. amount financed: $31,000; b. total installment price: $39,420; c. finance charge: $8420
C) a. amount financed: $26,000; b. total installment price: $39,320; c. finance charge: $13,320
D) a. amount financed: $26,000; b. total installment price: $39,320; c. finance charge: $8320

Answer the questions.

17) An investor purchased 700 shares of stock for $35-}I per share.

a. Find the cost of the stock.
b. If the broker charges 2.5% of the cost of the stock, find the broker's commission.

A)a. $24,718 B)a. $24,500 C)a. $24,675 D) a. $3525.00
b. $25.00 b. $612.50 b. $616.88 b. $88.12




[image: image5.jpg]Use dimensional analysis to convert the quantity to the indicated units. If necessary, round the answer to two decimal

places.
18) 7.7 mito ft (1 mile = 5280 feet )

A) 40,656 ft B) 3388 ft

C)13,552 ft

D)1i129:38 ft

Use dimensional analysis to convert the given square unit to the square unit indicated. Where necessary, round the

answer to two decimal places.
19) 30 m2 to ft2 (1 square foot = .09 square meter )

A)33.33 ft2 B)27 ft2

Find the mean for the group of data items.
20) 26,26,42,44,47,26
A)35.17 B) 37

Find the median for the group of data items.
21):10,8,4,0,2,1,2,0,0
A)2 B)5

C) 270 ft2 D) 333.33 ft2
C)42.2 D) 30.83
Q)4 D)0




[image: image6.jpg]Find the standard deviation for the group of data items (to the nearest hundredth).

E(x - mean)? )

n-1

A) 25 B)1.25 C)o D)1.58

22)-2,3;4,5,6 (St. Dev. =

Suppose that prices of a certain model of new homes are normally distributed with a mean of $150,000. Use the
68-95-99.7 rule to find the percentage of buyers who paid:

23) between $150,000 and $154,800 if the standard deviation is $2400 .
A)99.7% B) 47.5% C)34% D) 68%

Solve the problem by applying the Fundamental Counting Principle with two groups of items.

24) A restaurant offers a choice of 4 salads, 8 main courses, and 2 desserts. How many possible 3-course meals are
there?

A) 32 possible meals B) 14 possible meals C) 64 possible meals D) 128 possible meals

Use the formula for P to evaluate the expression.

)

n!
(n-n)

A) 3,628,800 B) 604,800 C) 151,200 D) 5040

25) 10%6 (nPr=




[image: image7.jpg]SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Simplify the square root.

26) A/175

Solve the equation by using the quadratic formula.
27) x2+3x-108 =0

Evaluate f(x) for the given values for x. Then use the ordered pairs (x, f(x)) from your table to graph the function.
28) f(x) = (x - 2)2
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[image: image8.jpg]Convert the given Fahrenheit temperature to its equivalent temperature on the Celsius scale. Where appropriate, round
to the nearest tenth of a degree.

29) 114° F {F=%C+32}

Solve the problem.
30) A random sample of 30 attorneys is selected. The following list gives their ages:

30, 58,42, 45,55,63,52,41,29, 35,43, 31, 61,44, 60, 32,29, 39, 44, 51, 38, 31, 48, 53, 67, 54, 30, 53,72, 71

Construct a stem-and-leaf display for the data.




